Tables of Plethysms for the Non-compact Sp(10, R) Group
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5;(0) > @{5}

s;(1) > @{1°}

< 52;(0) > + <s2;(4) >
o<s2(62)> 4 < s2(60) >
+ <s2;(741) >+ < s2;(761) >
+2<s2;(84) > + 2 < s2;(86) >
+2<2;(93) > 4 < s2;(941) >
+ < $2;(97) > +2<s2;(10) >

+ 3 < s2;(10 4) >

+ <s2;(1121) > +3<s2;(113) >

+3<s2;(12)> +3<s2;(122) >
+3<s2;(131) > 4+ <s2;(1321) >
+6<s2;(142)> +3<s2;(151)>
< s2;(15) > + < 52;(41%) >
+o<s2(621)> 4+ < s2;(641) >
+ < s2;(74) > + < 52;(76) >
+2<s2(841) >+ 2 < s2;(861
+ < 52;(94) > + 2 < s2; (95

+<52,(1112)> +<52(
+ 3 <s2;(1213) > + 3 < s2;
+ <s2;(132) >

)
)
+2<s2;(10 21) > + < s2;(10 3)
)
22
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+ 2 < s2;(10 51) >

+ 5 < 52;
+ 2 < 525
+ < s2;(1231) >
+4<s2;(133) >
+5<s2;(16) >

2

+ < s2;(4°1) >

+ < 52;(6%1) >

+ 2 < 52;(81%) >
+ < 52;(91%) >

+ < 52;(96) >

+ 3 < s2;(10 41) >

+ 3 < s2;(11 31) >

1)> + <s2;(123) >

+ < s2;(6) >

+ < 52;(73) >

+ < 52;(82) >

+ < s2;(91) >

+ < s2;(961) >
+ < s2;(1031) >
+ <s2;(111) >
+2<s2;(115) >
T T<s2,(124) >
+3<s2;(14) >
+ < 52;(61%) >
+ < s2;(731) >
+ < s2;(821) >
+ 2<s2;(931) >
+ 2 < s2;(10 13) >

(

+ 2<s2;(105) >
+2<s2;(114) >
+ 3 < s2;(131%) >




<

5;(0) > @f4l}

< 52;(2) >

+ < s2;(51) >
+2 < s2(62) >

+ 2 < s2;(6%) >

+ 2 < 52;(741) >

+ 3 <s2;(8) >

+ 3 < s2;(851) >

+ 4 <s2;(91) >
T < 52;(95) >

+ < s2;(10 1%) >

+ 7 <s2;(10 51) >
+ 10 < s2;(11 3) >

+ 2 <s2;(121%) >
+9<s2;(131) >
+4 < s2;(14 1%) >

+ 6 < 52;

+ 12 < s2;(10 6) >
49 < s2;(11 41) >
1< s2(122) >
+ 7 <s2;(13 21) >
+ 16 < s2;(14 2) >

+ < s2;(42) >
+ < s2;(541) >
+ 3 < s2;(64) >
+ < s2;(721) >
+ 2 < 52;(761) >
+92< 52:(831) >
+2< 82 871)
+ 6 < s2;(93) >

+ 6 < s2;(97) >

+ 5 < 52;(10 31) >
+6<s2(111) >
+ 13 < s2;(115
+ 8 < s2;(12 31
+ 17 < s2;(133
+ 13 <s2;(15 1
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) >
) >
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+ < 52;(4%) >
+2<s2;(6) >
+ < s2;(651) >
+ 3<s2;(73) >
+ < 52;(7%) >
+ 6 < s2;(84) >
+ 3 < s2;(8%) >
+ 5 < 52;(941) >
+4<s2;(10) >
+ 11 <s2;(104) >
F4<s2;,(1121) >
+6<s2;(12) >
+ 17<s2;(124) >
+8<s2;(14) >
+9<s2,(16) >

<

si(1) > ©{21°}

< 82;(21%) > + < 52;(41%) > + < s2;(421) >
+ < 52;(51%) > + < s2;(531) > + < s2;(54) >
T2 (02> <e2(63) >+ 3 <2 (641) >
+2<52;(6%1) > +2<s2;(T1H > + <s2;(72) >
F2<52:(T4) >  +3<s2(T51)> +2<s2(76) >
F3<s2(81%) > +4<s2(821) >+ 2<s2(83) >
+ 3 < s2;(85) > + 5 <52;(861) >  + 2 < 52;(87) >
+ 2 < 52;(92) > +6<s52;(931) >  +5<s2;(94) >
F6<52(96) >  + <s2u(101)>  +4<s2(1013) >
+5<52(103) > + 11 <s2(1041) >+ 7 < 52;(10 5) >
F4<s2,(112)> +10<s2(1131) >+ 9 < s2;(11 4) >
F6<52(1213) > + 11 < s2;(1221) >+ 8 < 52;(12 3) >
+7<s2;(132)> +4<s2;(141) >

+ < 52;(4%1) >

+ 2 < 52;(61%) >
+ < 52;(65) >

+ 3 < 2;(731) >
+ < 52;(7°1) >

+ 6 < s2;(841) >
+ 4 < 52;(91%) >
+ 7 < s2;(951) >
+ 7 < s2;(10 21) >
+ 6 < s2;(111%) >
+2<s2;(121) >
+9 < s2;(131%) >
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<

5;(0) > ©{32}

< 52;(2%) > + < s2;(4) > + < 52;(42) >
+ < s2;(51) > + < s2;(521) > + < 52;(53) >
+ < s2;(5%) > + < s2;(6) > + 3 < s2;(62) >
+ 3 < s2;(64) > +2<s2;(651) >  +2<s2;(6%) >
+2<52;(721) > +3<s2;(73)> +3<s2;(741) >
+2<82;(761) > 4+ < s2;(7%) > +2<s2;(8) >
+5<s52;(82) > +3<s2;(831)> +7<s2;(84) >
+ 6 < s2;(86) > +4<s2;(871) > +4<52;(8%) >
+4<52;(921) > +6<s2;(93) > +7<s2;(941) >
+7<s2;(961) > +7<s2;(97)> +3<s2;(10)
+9<s2;(102) > +6<s2;(1031) > + 12 < s2;(104) >
+ 13<52;(106) > +6 <s2;(11 1) > 4+ 7<s2;(1121) >
12 < 52;(1141) >+ 16 < 52;(115) > + 5 < 52; (12)>
F13<52:(122) > + 11 < 52;(12 31) >+ 20 < s2; (12 4) >
b o<s2(1313) > +11<s2(1321) >+ 18 < 52;(13 3) >
+6<s2;(141%) > +20<s2;(142)> + 14 <s2;(151) >

+ < 52;(4%) >
+ < 52;(541
+ < s2;(631
+2<s2;(7
+ 3 < s2;(7

+ < s2;(81
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45 < 52;(851) >
+4<s2;(9
+9<s2;(9
1 2<52,(101%) >

+ 10 < s2; (10 51) >
+ 12 <s2;(11 3) >
+4<s2;(121%) >
T 10<s2(131) >
16 <s2;(14) >
+9<52;(16) >

)
)
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1
1) >
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<

si(1) > ©{2°1}

< 52;(2%1) > + < s2;(41%) >
+ < 52;(51%) > +<52( 2) >

+ < s2;(421) >
+ < s2;(531) >

+ < s2;(5%1) > + < 52;(61%) > + 3 < s2;(621) >
+ 3 <s2;(641) > 4+ 2 < s2;(65) > + 2 < 52;(671) >
—|—2<52( 2) > +3<s2;(731) > +3<s2;(74) >
+2<82(76) > 4+ <s2(7°1) >+ <s2;(81) >
+5<s2;(821) > +3<s2;(83) > + 7 < s2;(841) >
6 <2 (861) >  +4<s2u(8T)> 4 4<s2(91%) >
+ 6 <52;(931) > + 7 <s2;(94) > + 9 < s2;(951) >
+2<52,(101) > +3<52(101%) > + 9 < 52;(1021) >
+12<52;(1041) >+ 10 < 52; (10 5) > + 6 < 52;(11 12) >
F12<s2,(1131) >+ 12 < 52, (114) > + 4 < s2;,(121) >
+ 13 <s2;(1221) >+ 11 < s2;(123) > + <s2;(13) >
+11<s2;(132)> +6<s2;(141)> 4+ <s2;(15) >

+ < 52;(4%1) >
+ < s2;(54) >

+ < 52;(63) >

+ 2 < 52;(71%) >
+ 3 < s2;(751) >
+ 2 < 52;(81%) >
+ 5 < s2;(85) >
+ 4 < 2;(92) >
+ 7 < 2;(96) >
+ 6 < s2;(10 3) >
+T<s2;(112) >
+5 < s2;(1213) >

+ 10 < s2;(13 12) >




<

51(0) > ©{31%}

< s2;(31) >

+ < s2;(521) >

+ < s2;(6) >

+ 3 < s2;(64) >

+ 2 <s2;(721) >
+ 3 < s2;(761) >
+ 5 < s2;(82) >

+ 7 < s2;(86) >

+ 5 < s2;(921) >
+ 9 < s2;(961) >
+ 8 < s2;(10 2) >
+ 14 < 52;(10 6) >
+ 14 < s2;(11 3) >
+ 6 < s2;(12 1%) >
+ 11 <s2;(131) >

+6<s2;(14) >
7 <5216 ) >

+ < s2;(42)
+2<52;(53) >
+ < s2;(61%)

+ 2 < s2;(651) >
+4<s2;(73) >
+ 2 < 52,(72)

+ 5 < s2;(831) >
+ 5 < s2;(871) >
+ 9 < s2;(93)

+ 10 < 52;(97) >

+9<s2;(1031) > + 13 <s2;(104) > + 13 < s2;
+8<s2 (11 1) > + <s2;(1113) >

+ <s2;(431) > 4 <s2;(51) >
+ <s2;(541) >  + <s2;(5%) >
+ 2 < s2; (62) > + 2 < s2;(631) >
+ <52( > + 3 < s2;(71) >
+ 4 <52;(741) >+ 5 < 52;(75) >
+ < s2;(8) > + 2 < 52;(81%) >
+ 6 <s2;(84)>  +6<s2;(851) >
+ 2 < s2;(8%) > +4<s2;(91) >
+ 8 < 52;(941) > + 10 < 52;(95) >
+3<s2(10)> 4+ 4<s2;(10 1) >
( (10 51) >
+ 8 < s2;(11 21) >

+ 15 <s2; (11 41) >+ 20 < s2;(115) > + 3 < s2;(12) >
+ 14 <2;(122) > + 16 < s2;(
+ <s2;(131%) > + 14 < s2;(
+ 10 < s2;(14 12) >+ 20 < 52; (14 2) > + 17 < s2;(15 1) >

12 31) >+ 21 < 52; (12 4) >
1321) >+ 23 < s2;(13 3) >
(

<

si(1) > ©{31%}

< 52; (312
+ < s2;(
+ < s2;(
+ 3 < 52;

)
52)
61) >
(64
+ 2 < s2;(7
(7
(
(
(
(

) >
+ 3 < s2;
+ 5 < s2;
+ 7 < s2;

+ 9 < s2;
+ 4 < s2;

1
2) >
6) >
21) >
61) >
31) >
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8
8
9
101) >
(

+ < s2;(421) >
+ 2 < s2;(531) >
+ < 52;(61%) >
42 < 52;(65) >

+ 4 < s2;(731) >
+ 2 < 52;(7°1) >
+ 5 < s2;(83) >
+ 5 < s2;(87) >
+ 8 < s2;(94) >
+ 3 < s2;(

+ < s2;(
+ < s2;(
+ 2 < 525

+ 4 < 52;
+ 2 < 525
+ 6 < 52;
+ 4 < 52;
+ 10 < s2;

4
5
(
+ < s2;(6°1) >
(
(
(
(

)

) >
21) >
)

) >
)
1) >

4
1
4
1%) >
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+ 13 <s2;(1041) >+ 13 < s2;(105) > + < s2;(11) >

+8<s2;(112)> + 14 < s2;(1131) >+ 15 < 52; (11 4) >
+3<s2;(12 13) > 4+ 14 < 52;(1221) >+ 16 < 52; (12 3) >
F11<s2;(1312) >+ 14 < s2;(132) > + 10 < 52; (14 1) >

3
4
6
7
8
8
9
(
1
1
(
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7
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8

94 51) >
10 13) > + 8 < 52;(10 21) >
(

(

(

(

+ 8 < 52;
+ 6 < 52;
+ <s2;(13) >
+3<s2;(15) >




